# An Improved Inexact Newton Method for Nonlinear Equations

Meihong Zhou

College of Mathematics and Information Science, Hebei University, Baoding, 071002, China

**Abstract:** In this paper, we describe a variant of the Inexact Newton method for solving the nonlinear equations. We make a study of a new nonmonotone inexact Newton method with a nonmonotone backtracking strategy. To decrease the computational complexity, the BFGS update formula is used to generate an approximated matrix rather than a normal Jacobian matrix. Theoretical analysis indicates that the new method preserves the global convergence under mild conditions.

Keywords: Nonlinear equations; Inexact Newton method; Nonmonotone strategy; Global convergence

#### 1. Introduction

Consider the following nonlinear system of equations:

$$F(x) = 0, \ x \in \mathbb{R}^n.$$
(1)

where  $F : \mathbb{R}^n \to \mathbb{R}^n$  is continuously differentiable. There are various methods to solve the problem (1), such as the Newton and the quasi-Newton methods [1-6], the spectral method [7, 8], the trust-region-based methods [9-12]. Suppose that F(x) has a zero, then the nonlinear system (1) is equivalent to the following nonlinear unconstrained least-squares problem

$$\min f(x) \coloneqq \frac{1}{2} \left\| F(x) \right\|^2$$
s.t.  $x \in \mathbb{R}^n$ . (2)

where ... denotes the Euclidean norm.

The general iterative formula for (1) proceed as follows: given a point  $x_k$ , find a descent direction  $d_k$ , a suitable step length  $\alpha_k$  and construct the new point as follows:

$$x_{k+1} = x_k + \alpha_k d_k. \tag{3}$$

The Newton's method is a classical way for solving the nonlinear equations because it converges rapidly from any sufficiently good starting position. It has the following form to get  $d_k$ :

$$\nabla F(x_k)d_k = -F(x_k). \tag{4}$$

The main drawback of Newton's method is that the direct computation of the Jacobian is computationally expensive. This fact motivated the development of quasi-Newton method. The quasi-Newton method is of the form

$$B_k d_k = -F(x_k). \tag{5}$$

where  $B_k$  is generated by the BFGS formula

$$B_{k+1} = B_k - \frac{B_k s_k s_k^T B_k}{s_k^T B_k s_k} + \frac{y_k y_k^T}{y_k^T s_k}.$$
 (6)

where  $s_k = x_{k+1} - x_k$  and  $y_k = F_{k+1} - F_k$ .

Similar with [13], we propose a new Inexact Newton method to substitute (5) with a condition on its residual:  $B d = -F + \gamma$ (7)

where 
$$\frac{\left\|\gamma_{k}\right\|}{\left\|F_{k}\right\|} \leq \beta_{k}, \ \beta_{k} \in \left[0, \frac{1}{2}\right], \text{ and}$$
  
 $F_{l(k)} \coloneqq \max_{0 \leq j \leq n(k)} \left\{\left\|F_{k-j}\right\|\right\}, \ k \in N \cup \{0\},$   
 $n(0) = 0 \ and \ 0 \leq n(k) \leq \min\left\{n(k-1)+1, N\right\} \text{ with } N > 0$ 

As for computing a suitable  $\alpha_k$ , after studying the methods from [6,14-16], we make a study of the new inexact quasi-Newton method with a new nonmonotone backtracking strategy for solving the nonlinear equations. Actually, at the *k* th iteration of our algorithm, we combine the method in [16] and the new nonmonotone technique proposed in [17] to obtain the step size  $\alpha_k$ ,

$$f\left(x_{k}+\alpha_{k}d_{k}\right)\leq R_{k}+\alpha_{k}^{2}\sigma F\left(x_{k}\right)^{T}d_{k}.$$
(8)

where  $\sigma \in (0, 1/2)$  is a constant and  $d_k$  is a solution of (7).

$$R_{k} = \eta_{k} f_{l(k)} + (1 - \eta_{k}) f_{k}.$$
(9)

where

$$f_{l(k)} = \max_{0 \le j \le m(k)} \{ f_{k-j} \}, \quad k = 0, 1, 2, \dots$$
(10)

$$m(0) = 0, \ 0 \le m(k) \le \min\{m(k-1)+1, N\}, N \ge 0,\$$
  
 $\eta_k \in [\eta_{\min}, \eta_{\max}] \text{ for } \eta_{\min} \in [0,1), \ \eta_{\max} \in [\eta_{\min}, 1].$   
Because of no need to compute the Jacobian matrix  $\nabla F(x)$ , the storage and workload are considerably saved. Furthermore, the nonmonotone technique can im-

International Journal of Applied Mathematics and Soft Computing Volume 4, Issue 4, December, 2018

prove the iterative algorithm in optimization and accelerate the convergence process.

The rest of this paper is organized as follows. In Section 2, the new algorithm will be introduced. The convergence analysis is investigated in Section 3. Finally, some conclusions are addressed in Section 4.

#### 2. Algorithm

Now, we outline the proposed algorithm.

Algorithm 2.1

Initial: Choose a starting point  $x_0 \in \mathbb{R}^n$ , an initial symmetric positive definite matrix  $B_0 \in \mathbb{R}^{n \times n}$ , and constants

 $r \in (0,1), \sigma, \beta_{\max} \in (0,1/2),$ 

 $\varepsilon > 0, m(k) = 0, n(k) = 0, \text{ let } k := 0.$ 

Step 1: If  $||F_k|| < \varepsilon$  holds, stop; otherwise, go to step 2.

Step2: Determine  $\beta_k \in [0, \beta_{\max}]$ , Solve (7) to obtain  $d_k$ .

Step3: Let  $\alpha_k = 1, r, r^2, r^3, \dots$  until (8) holds.

Step 4: Update  $B_k$  by the BFGS update formula and ensure the update matrix  $B_{k+1}$  is positive definite.

Step 5: Set  $k \coloneqq k+1$  and go to step 1.

Remark Step 4 of Algorithm 2.1 can ensure that  $B_k$  is always positive definite. This means that (7) has a unique solution  $d_k$ . By positive definiteness of  $B_k$ , it is easy to obtain  $F_k^T d_k < 0$ .

Also, we need the following standard hypothesis to complete theoretical proof.

(H1) Let the level set  $\Omega = \{x | f(x) \le f(x_0)\}$  be bounded. (H2) F(x) is continuously differentiable on an open

convex set  $\Omega_1$  containing  $\Omega$ ,  $\{\|F_k\|\}$  is bounded.

(H3) The Jacobian of F(x) is symmetric, bounded and positive definite on  $\Omega_1$ , i.e., there exist positive constants  $M \ge m > 0$  such that

$$\left\|\nabla F\left(x\right)\right\| \le M, \quad \forall x \in \Omega.$$
(11)

and

$$m \left\| d \right\|^2 \le d^T \nabla F(x) d, \quad \forall x \in \Omega, \, d \in \mathbb{R}^n \,. \tag{12}$$

(H4)  $B_k$  is a good approximation to  $\nabla F_k$ , i.e.,

$$\left\| \left( \nabla F_k - B_k \right) d_k \right\| \le \varepsilon_* \left\| F_k \right\| \tag{13}$$

where  $\varepsilon_* \in \left(0, \frac{1}{2}\right)$  is a small quantity.

Considering (H4) and using the von Neumann lemma, we deduce that  $B_k$  is also bounded (see [15]).

Lemma 2.1 Let (H1)-(H2) hold and the sequence  $\{x_k\}$  is

generated by Algorithm 2.1, then the sequence 
$$\{f_{l(k)}\}$$
 is

not monotonically increasing. Therefore the sequence  $\{f_{l(k)}\}$  is convergent.

Proof. Using the definition  $R_k$  and  $f_{l(k)}$ , we have

$$R_{k} = \eta_{k} f_{l(k)} + (1 - \eta_{k}) f_{k} \le \eta_{k} f_{l(k)} + (1 - \eta_{k}) f_{l(k)} = f_{l(k)}$$
(14)  
This leads to  
$$f (x_{k} + \alpha_{k} d_{k}) \le$$

$$R_k + \alpha_k^2 \sigma F(x_k)^T d_k \le f_{l(k)} + \alpha_k^2 \sigma F(x_k)^T d_k.$$
<sup>(15)</sup>

The preceding inequality and the descent condition  $F_k^T d_k < 0$  indicate that

$$f_{k+1} \le f_{l(k)} \tag{16}$$

On the other hand, from (10), we get

 $f_{l(k+1)} = \max_{0 \le j \le m(k+1)} \left\{ f_{k+1-j} \right\} \le \max_{0 \le j \le m(k)+1} \left\{ f_{k+1-j} \right\} = \max \left\{ f_{l(k)}, f_{k+1} \right\}$ This fact together with (16) show that the sequence  $\{f_{l(k)}\}$  is not monotonically increasing. (H1) and (H2) imply that

 $\exists \lambda \ s.t. \ \forall n \in N : \lambda \leq f_{k+n} \leq f_{l(k+n)} \leq \dots \leq f_{l(k+1)} \leq f_{l(k)} \leq f_0.$ So  $f_{l(k)}$  is convergent.

Lemma 2.2 Suppose that the sequence  $\{x_k\}$  is generated by Algorithm 2.1. Then, we have

$$f_{k+1} \le R_{k+1} \quad \forall k \in N \bigcup \{0\}.$$

$$(17)$$

Proof. The proof is similar to Lemma 3.2 in [17].

### 3. Convergence Analysis

This section gives some convergence results under some suitable conditions.

Lemma 3.1 Suppose that (H1)-(H3) hold and the sequence  $\{x_k\}$  is generated by Algorithm 2.1. Then we have

$$\lim_{k \to \infty} f_{l(k)} = \lim_{k \to \infty} f\left(x_k\right). \tag{18}$$

Proof. From (8), (10) and (14), for k > N, we obtain c( ) c(

$$f(x_{l(k)}) = f(x_{l(k)-1} + \alpha_{l(k)-1}d_{l(k)-1})$$
  

$$\leq R_{l(k)-1} + \sigma \alpha_{l(k)-1}^{2} F_{l(k)-1}^{T} d_{l(k)-1}$$
  

$$\leq f(x_{l(l(k)-1)}) + \sigma \alpha_{l(k)-1}^{2} F_{l(k)-1}^{T} d_{l(k)-1}.$$

The preceding inequality together with Lemma 2.1,  $\alpha_{K} > 0$  and  $F_{k}^{T} d_{k} < 0$  imply that

$$\lim_{k \to \infty} \alpha_{l(k)-1}^{2} F_{l(k)-1}^{T} d_{l(k)-1} = 0.$$
(19)

Based on (H1)-(H4), similar to Lemma 3.4 in [16], it is not difficult to deduce that there exist constants  $M_1 \ge m_1 > 0$  such that

$$m_1 \|d_k\|^2 \le d_k^T B_k d_k = -F_k^T d_k \le M_1 \|d_k\|^2.$$
 (20)

Using (20), we have  $\alpha_k^2 F_k^T d_k \leq -\alpha_k^2 m_1 ||d_k||^2$ , for all *k*. This fact along with (19) suggest that

$$\lim_{k \to \infty} \alpha_{l(k)-1} \left\| d_{l(k)-1} \right\| = 0$$
 (21)

We now prove that  $\lim_{k\to\infty} \alpha_k \|d_k\| = 0$ . Let

 $\hat{l}_k = l(k+N+2)$ . First, by induction, we show that, for any  $j \ge 1$ , we have

$$\lim_{k \to \infty} \alpha_{\hat{l}(k)-j} \left\| d_{\hat{l}(k)-j} \right\| = 0.$$
<sup>(22)</sup>

and

$$\lim_{k \to \infty} f\left(x_{i(k)-j}\right) = \lim_{k \to \infty} f\left(x_{i(k)}\right).$$
(23)

If j = 1, since  $\{\hat{l}_k\} \subseteq \{l(k)\}$ , the relation (22) directly follows from (21). The condition (22) indicates that  $\|x_{i(k)} - x_{i(k)-1}\| \to 0$ . This fact along with the fact that f(x) is uniformly continuous on  $\Omega$  imply that (23) holds, for j = 1. Now, we assume that (22) and (23) hold, for a given j. Then, using (8) and (14), we obtain

$$f\left(x_{\hat{i}(k)-j}\right) \leq R_{\hat{i}(k)-j-1} + \sigma \alpha_{\hat{i}(k)-j-1}^{2} F_{\hat{i}(k)-j-1}^{T} d_{\hat{i}(k)-j-1}$$
$$\leq f\left(x_{l(\hat{i}(k)-j-1)}\right) + \sigma \alpha_{\hat{i}(k)-j-1}^{2} F_{\hat{i}(k)-j-1}^{T} d_{\hat{i}(k)-j-1}.$$

Following the same arguments employed for deriving (21), we deduce

$$\lim_{k \to \infty} \alpha_{\hat{l}(k) - (j+1)} \left\| d_{\hat{l}(k) - (j+1)} \right\| = 0$$

This means that

$$\lim_{k \to \infty} \left\| x_{\hat{l}(k)-j} - x_{\hat{l}(k)-(j+1)} \right\| = 0$$

This fact together with uniformly continuous property of f(x) on  $\Omega$  and (23) indicate that

$$\lim_{k \to \infty} f\left(x_{\hat{l}(k)-(j+1)}\right) = \lim_{k \to \infty} f\left(x_{\hat{l}(k)-j}\right) = \lim_{k \to \infty} f\left(x_{l(k)}\right) \quad (24)$$

Thus, we conclude that (22) and (23) hold for any  $j \ge 1$ .

On the other hand, for any  $k \in N$ , we have

$$x_{k+1} = x_{\hat{i}(k)} - \sum_{j=1}^{l(k)-k-1} \alpha_{\hat{i}(k)-j} d_{\hat{i}(k)-j} .$$
(25)

From definition of l(k), we have  $\hat{l}(k) - k - 1 = l(k + N + 2) - k - 1 \le N + 1$ . Thus, (22) and

(25) suggest (25) 
$$k = 1 = l(k + N + 2) - k - 1 \le N + 1$$
. Thus, (22) and (25)  $k = 1 \le N + 1$ .

$$\lim_{k \to \infty} \left\| x_{k+1} - x_{\hat{i}(k)} \right\| = 0 .$$
 (26)

Since f(x) is uniformly continuous on  $\Omega$  and (26),

$$\lim_{k \to \infty} f(x_k) = \lim_{k \to \infty} f(x_{i(k)}) = \lim_{k \to \infty} f(x_{l(k)}).$$
  
The proof is complete.

Lemma 3.2 Suppose that (H1)-(H3) hold and the sequence  $\{x_k\}$  is generated by Algorithm 2.1. Then we have

$$\lim_{k \to \infty} f(x_k) = \lim_{k \to \infty} R_k.$$
(27)

Proof. By Lemma 2.2 and (14), we get

 $f_k \leq R_k \leq f_{l(k)}.$ 

This fact together with Lemma 3.1, we have  $\lim_{k \to \infty} f(x_k) = \lim_{k \to \infty} R_k$ . Then the proof is complete.

Lemma 3.3 Let (H4) hold. Then  $d_k$  is a descent direction of f(x) at  $x_k$ , i.e.,

$$\nabla f\left(x_{k}\right)^{T}d_{k} \leq -\left(1-\delta\right)\left\|F_{k}\right\|^{2}.$$
(28)

where  $\delta \in (0,1)$ .

Proof. By using (7), we get

$$\nabla f\left(x_{k}\right)^{T} d_{k} = F_{k}^{T} \nabla F_{k} d_{k}$$

$$= F_{k}^{T} \left[ \left( \nabla F_{k} - B_{k} \right) d_{k} - F_{l(k)} + \gamma_{k} \right] \qquad (29)$$

$$\leq F_{k}^{T} \left( \nabla F_{k} - B_{k} \right) d_{k} - \left\| F_{k} \right\|^{2} + F_{k}^{T} \gamma_{k}.$$

Thus, together with (7), we have

$$\nabla f\left(x_{k}\right)^{T} d_{k} + \left\|F_{k}\right\|^{2} \leq F_{k}^{T} \left(\nabla F_{k} - B_{k}\right) d_{k} + F_{k}^{T} \gamma_{k}$$

$$\leq \left\|F_{k}^{T}\right\| \left[\left\|\left(\nabla F_{k} - B_{k}\right) d_{k}\right\| + \left\|\gamma_{k}\right\|\right]$$

$$\leq \left\|F_{k}^{T}\right\| \left[\left\|\left(\nabla F_{k} - B_{k}\right) d_{k}\right\| + \beta_{k} \left\|F_{k}\right\|\right]$$

It follows from (13) that

$$\nabla f(x_{k})^{T} d_{k} \leq \left\|F_{k}^{T}\right\|\left[\left\|(\nabla F_{k} - B_{k})d_{k}\right\| + \beta_{k}\left\|F_{k}\right\|\right] - \left\|F_{k}\right\|^{2} (30)$$
$$\leq (\varepsilon_{*} + \beta_{k} - 1)\left\|F_{k}\right\|^{2} = -(1 - \delta)\left\|F_{k}\right\|^{2}.$$

where  $\delta = \varepsilon_* + \beta_k \in (0,1)$ . The proof is complete.

Lemma 3.4 Let (H1)-(H4) hold. Suppose there exists a constant  $m_3$ , such that  $m_3 ||F_k|| \le ||d_k||$ , then Algorithm 2.1 will produce iteration  $x_{k+1} = x_k + \alpha_k d_k$  in a finite number of backtracking steps.

Proof. From Lemma 3.8 in [18], we have that in a finite number of backtracking steps,  $\alpha_k$  must satisfy

$$\begin{aligned} \left\|F\left(x_{k}+\alpha_{k}d_{k}\right)\right\|^{2} &-\left\|F\left(x_{k}\right)\right\|^{2} \leq \theta \alpha_{k}F\left(x_{k}\right)^{T} \nabla F\left(x_{k}\right)d_{k}. \end{aligned}$$
  
By (20) and (30), we get  
$$\alpha_{k}F\left(x_{k}\right)^{T} \nabla F\left(x_{k}\right)d_{k} \leq -\alpha_{k}\left(1-\delta\right)\left\|F_{k}\right\|^{2} \\ &= -\alpha_{k}\left(1-\delta\right)\frac{F_{k}^{T}d_{k}}{T}\left\|F_{k}\right\|^{2} \end{aligned}$$

$$\leq \alpha_{k} (1-\delta) \frac{F_{k}^{T} d_{k}}{m_{1} \|d_{k}\|^{2}} \frac{\|d_{k}\|^{2}}{m_{3}^{2}}$$
(31)  
=  $\alpha_{k} (1-\delta) \frac{F_{k}^{T} d_{k}}{m_{1} m_{3}^{2}}.$ 

By  $\alpha_k \leq 1$ , we have

$$\alpha_{k}F(x_{k})^{T}\nabla F(x_{k})d_{k} \leq \alpha_{k}(1-\delta)\frac{F_{k}^{T}d_{k}}{m_{1}m_{3}^{2}} \leq \alpha_{k}^{2}(1-\delta)\frac{F_{k}^{T}d_{k}}{m_{1}m_{3}^{2}}.$$
 (32)

From Lemma 2.2, we get  $f_k \leq R_k$ . So we get

$$\begin{split} &f\left(x_{k}+\alpha_{k}d_{k}\right)-R_{k} \leq \\ &f\left(x_{k}+\alpha_{k}d_{k}\right)-f_{k} \leq \frac{1}{2}\theta\alpha_{k}^{2}\left(1-\delta\right)\frac{F_{k}^{T}d_{k}}{m_{1}m_{3}^{2}}.\\ &\text{Let } \sigma \in \left(0,\min\left\{\frac{1}{2},\frac{\theta(1-\delta)}{2m_{1}m_{3}^{2}}\right\}\right), \text{ then we get the line$$

search (8). Thus we conclude the result of this lemma. The proof is complete

Lemma 3.4 shows that the line search technique (8) is reasonable, then Algorithm 2.1 is well defined.

Theorem 3.1 Let  $\{x_k\}$  be generated by Algorithm 2.1, and let (H1)-(H4) hold. Then, we have

$$\lim_{k \to \infty} \left\| F_k \right\| = 0. \tag{33}$$

Proof. According to (8), (20) and Lemma 3.2, we get

$$f(x_{k} + \alpha_{k}d_{k}) - R_{k} \leq \alpha_{k}^{2}\sigma F(x_{k})^{T}d_{k}$$
  
$$\leq -\alpha_{k}^{2}\sigma m_{1} \left\|d_{k}\right\|^{2}$$
(34)

This means  $\lim_{k\to\infty} \alpha_k^2 \|d_k\|^2 = 0$ .

which implies that

$$\lim_{k \to \infty} \alpha_k = 0. \tag{35}$$

or

$$\|k\| = 0. \tag{36}$$

If equation (36) holds, from (7), we get

 $\lim d$ 

 $(1 - \beta_k) \|F_k\| \le \|F_k\| - \|\gamma_k\| \le \|F_{l(k)}\| - \|\gamma_k\| \le \|B_k d_k\| \le \|B_k\| \|d_k\| .$ Since  $B_k$  is bounded and  $\beta_k < 1$ , then  $\lim_{k \to \infty} \|F_k\| = 0.$ 

From (8) and Lemma 2.2, for all large enough k, we have

$$f\left(x_{k} + \frac{\alpha_{k}}{r}d_{k}\right) - f_{k}$$

$$> f\left(x_{k} + \frac{\alpha_{k}}{r}d_{k}\right) - R_{k} > \frac{\alpha_{k}^{2}}{r^{2}}\sigma F\left(x_{k}\right)^{T}d_{k}.$$
(37)

Since

$$f\left(x_{k} + \frac{\alpha_{k}}{r}d_{k}\right) - f_{k} = \frac{\alpha_{k}}{r}\nabla f\left(x_{k}\right)^{T}d_{k} + o\left(\frac{\alpha_{k}}{r}\left\|d_{k}\right\|\right)$$
$$= \frac{\alpha_{k}}{r}F_{k}^{T}\nabla F_{k}d_{k} + o\left(\frac{\alpha_{k}}{r}\left\|d_{k}\right\|\right).$$
(38)

Using this together with (37) and (31), we have

$$\left(\frac{2\sigma}{\theta} - \sigma \frac{\alpha_k}{r}\right) \frac{\alpha_k}{r} F_k^T d_k + o\left(\frac{\alpha_k}{r} \|d_k\|\right) \ge 0.$$
 (39)

Dividing (39) by 
$$\frac{\alpha_k}{r} \|d_k\|$$
 and nothing that

$$\frac{2\sigma}{\theta} - \sigma \frac{\alpha_k}{r} > 0$$
 and  $F_k^T d_k < 0$ , we have

$$\lim_{k \to \infty} \frac{F_k^T d_k}{\|d_k\|} = 0.$$
(40)

By (20), we have

 $\lim_{k \to \infty} \left\| d_k \right\| = 0 \tag{41}$ 

So  $\lim_{k \to \infty} ||F_k|| = 0$  and the proof is complete.

## 4. Conclusions

An improved Inexact Newton method is proposed for solving the nonlinear equations in this paper, which use a new nonmonotone inexact Newton method and a new nonmonotone backtracking strategy. Under mild conditions, we obtain the global convergence. But there are at least three issues that need further improvement: (i) The first issue which should be considered is the numerical experiments, the numerical results can demonstrate the efficiency of the new method. (ii) The second issue is the choice of the initial point. It is well known that the initial point plays an important role in an algorithm. (iii) The last important issue is that the proofs of the local convergence need to be completed. All these topics will be the focus of future work.

#### References

- Byrd R. H. Global Convergence of a Class of Quasi-Newton Methods on Convex Problems. SIAM Journal on Numerical Analysis, 1987, 24(5), 1171–1189.
- [2] Albaali M., Spedicato E., Maggioni F. Broyden's Quasi-Newton Methods for a Nonlinear System of Equations and Unconstrained Optimization: a Review and Open Problems. Optimization Methods and Software, 2014, 29(5), 937-954.
- [3] Broyden C. G. The Convergence of an Algorithm for Solving Sparse Nonlinear Systems. Mathematics of Computation, 1971, 25(114), 285–294.
- [4] Dennis J. E. Quasi-Newton Methods, Motivation and Theory. Siam Review, 1977, 19(1), 46-89.
- [5] Li D. H., Fukushima M. A Derivative-free Line Search and Global Convergence of Broyden-like Method for Nonlinear Equations. Optimization Methods and Software, 2000, 13(3), 181– 201.
- [6] Gu G. Z., Li D. H., Qi L., Zhou S. Z. Descent Directions of Quasi-Newton Methods for Symmetric Nonlinear Equations. Siam Journal on Numerical Analysis, 2002, 40(5), 1763–1774.
- [7] Cheng W., Li D. H. A Derivative-free Nonmonotone Line Search and Its Application to the Spectral Residual Method. Ima Journal of Numerical Analysis, 2009, 29(3), 814-825(12).
- [8] Cruz W. L., Raydan M. Nonmonotone Spectral Methods for Large-scale Nonlinear Systems. Optimization Methods and Software, 2003, 18(5), 583- 599.
- [9] Fan J., Pan J. An Improved Trust Region Algorithm for Nonlinear Equations. Computational. Optimization and Applications, 2011, 48(1), 59–70.

- [10] Fan J., Pan J. A Modified Trust Region Algorithm for Nonlinear Equations with New Updating Rule of Trust Region Radius. International Journal of Computer Mathematics, 2010, 87(14), 3186–3195.
- [11] Yuan G., Lu S., Wei Z. A New Trust-region Method with Line Search for Solving Symmetric Nonlinear Equations. International Journal of Computer Mathematics, 2011, 88(10), 2109–2123.
- [12] Yuan G., Wei Z., Lu X. A BFGS Trust-region Method for Nonlinear Equations. Computing, 2011, 92(4), 317–333.
- [13] Dembo R. S., Eisenstat S. C., Steihaug T. Inexact Newton Methods. Siam Journal on Numerical Analysis, 1982, 19(2), 400– 408.
- [14] Li D., Fukushima M. A Global and Superlinear Convergent Gauss-Newton-based BFGS Method for Symmetric Nonlinear

Equations. Siam Journal on Numerical Analysis, 1999, 37, 152-172.

- [15] Zhu D. Nonmonotone Backtracking Inexact Quasi-Newton Algorithms for Solving Smooth Nonlinear Equations. Applied Mathematics and Computation, 2005, 161(3), 875-895.
- [16] Yuan G., Lu X. A New Backtracking Inexact BFGS Method for Symmetric Nonlinear Equations. Computers and mathematics of Applications, 2008, 55(1), 116-129.
- [17] Wang H., Pu C. G. D. A BFGS Trust-region Method with a New Nonmonotone Technique for Nonlinear Equations. Optimization, 2015, 64 (4), 981-992.
- [18] Brown P. N., Saad Y. Convergence Theorey of Nonlinear Newton–Kryloy Algorithms. Siam Journal on Optimization, 1994, 4, 297–330.